EARAROBEEIERT — 2 N— IBISH —F

2015597128 (£) 4EIFU1H

m"fﬁ%Sﬁi 500ATF [EE] E2 ‘ (%] W ‘ (REWM] - | & (%) 12000 THE
[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s o4 | ALKEREE 1:11.2 6-5 36.8| 95.8 | 1 484 | FEERX (EH)
1 nxr—7 55.0 — ILAZER
REATAT = B AR ) RUA e3P S
2[1|o | H=—FT1X 44 Eé‘é’_ﬁgﬁk 1:(121).5 1-1 37.6| 92.9 | 2 492 Eg?}gﬂ(%ﬁ)
R:TVERE BELI059E 0| reraig
L ETE S s 3 | EAEE 1:11.5 2-2 37.5| 928 | 4 460 | IEHR ()
317]13| V>HRT1 TR 5.0 (742%) o |FEE
LY IRGT4 TSR B HROA-LI =ARE4S
408l15| YV TL—H G g | Ll o 28 |37.6]91.0 | 7 | 506 |BHHEE (eH)
LILNATA—H— BTFTSLH O igmay
5 5 B I RF (=1 44 EE(E)EE—EK 1;11.33 10-11 37.0] 90.3 | 8 506 %ﬁg% (E#)
. s _
R:x v TT7R74—7 BT AT7AXFIZR ( -2 — B RS
Y 2 FAR A 2 R # 4 | FREX 1(:31/14.)9 4-3  |37.7(89.2 | 3 | 476 E(;ﬁ?u§<<f;§)7_x
LHIRT TR BHITAHTY TR (-6) BEZ &y b
7ls5lo| kv anL b # o] BReE F S B Rl Kl B Bl ot Ly
LHYIRTIIX BN=Z2 b0 3m ry Y avEEMASH T avH
8 g|I—vnayy > 3 | ML (11:112/.42) 13-11  [37.2| 86.6 | 11 | 454 %;;éi ()
RO—TXAL AL BFAERSATET A ST
ol 1T bTA 4 3 ;lg_ﬂgﬂﬁé 1/1\3)2 8-7 37.5| 86.5 | 14 | 488 g%im (=)
LT F Ly h— BIYITA 42| fehtgss
10l 6| EXZZXT o4 | TRl 1122 1616 |37.0| 86.7 | 10 | S04 |KEEA (E)
R:id—IWRPYa2—b B:AY/XF10—) (+6) KIFEBHS
N . AR 2 [B] i 5 g%%*ﬂi 1(:11/22.>3 15-14 [ 37.0| 85.8 | 16 | 492 éﬁii (=)
R:o07% BILLLTAIE ) | ek
e . L f= TN 3
12/ 7|14 A1 7 b7 27> o4 | EZHS (12.112/.27) 12-11 | 37.8| 82.0 | 12 ::320) ggg €30
LA —FIh7Tr BN-FLTx>F> #H BhE
a1l | Fr=7sLF0s f 4 fg%*g’& (11:112/.3 109 [38.1)80.3 | 15 | 474 g&g%g ()
R:ZoY—rk—0O— B:a—s0O=7 I e A
14 3 =3 JSE— b i 4 é%%ﬁﬁ% (11:113/.21) 8-9 38.4| 78.8 | 13 | 470 %E]gﬁf} (=)
RFIRT TSR B IRALFIUR 48) | s
1515 |10| ¥ nsgHwv Y [B] # 3 %%Ei 1(:11/32.>2 67 |38.8|78.6| 6 | 530 gz%z (i)
RRBF2—FTUNT 1 BTALILY 2 mm xe
1618116l 7NV Z 7 [B] # 4 | HE-8 s 4-5 [39.3|76.8 | 9 | 5% é‘%ﬁi";ﬁiﬁ’
R:7v%% B KRZFS (-6) B BE
@ 71 L
) 48.5-37.3
NA>&A L | 12.2-10.5-11.2-11.9-12.2-13.2
® I —F—@EBIERL
|2=3F=
230—7F—
dal=3r= 2(13,15) (7,16) (10,11) (3,12) (1,5)14(8,9) (4,6)
43—3+— [2,13(7,15) (11,16) (10,12) (3,1) (8,5,14) (4,9)6
[ N3
B O 1 430/ 714K 2-11 540 e E 1-6 1,480M JEHE 2-11-13 2,990/
8 B 1 180M 11-13 690F B = 2-11 1,440 B 11-2-13 12,910
2 160/ 2-13 740 B HE 11-2 2,590
13 170

ABICOVWTRDTEEERROODE. TR LIV,




